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Question: 
 
Study Figure 1 carefully. Assume Q1 and Q2 are matched and neglect iB. If vd = vBE1 - vBE2, 
then show that: 
 

           [8 marks] 
 
Given VT = 26 mV, IQ = 0.8 mA, and vd = -0.05 V; calculate current iC1. 

           [2 marks] 
 

 

 
 
    Figure 1 
 
Answer: 
 
 
 

Name:   Dr JBO 

Student ID Number: Model Answer 

Section:  01A / 01B / 02A / 02B 

Lecturer:  Dr.  Jamaludin Bin Omar 
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Question: 
 
Study Figure 1 carefully. Assume Q1 and Q2 are matched and neglect iB. If vd = vBE1 - vBE2, 
then show that: 
 

           [8 marks] 
 
Given VT = 26 mV, IQ = 0.8 mA, and vd = -0.05 V; calculate current iC2. 
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Question: 
 
Study Figure 1 carefully. Assume Q1 and Q2 are matched and neglect iB. If vd = vBE1 - vBE2, 
then show that: 
 

           [8 marks] 
 
Given VT = 26 mV, IQ = 0.7 mA, and vd = +0.05 V; calculate current iC1. 

           [2 marks] 
 

 

 
 
    Figure 1 
 
Answer: 
 
 
 

Name:   Dr JBO 

Student ID Number: Model Answer 

Section:  01A / 01B / 02A / 02B 

Lecturer:  Dr.  Jamaludin Bin Omar 
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Question: 
 
Study Figure 1 carefully. Assume Q1 and Q2 are matched and neglect iB. If vd = vBE1 - vBE2, 
then show that: 
 

           [8 marks] 
 
Given VT = 26 mV, IQ = 0.7 mA, and vd = +0.05 V; calculate current iC2. 
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Name:   Dr JBO 

Student ID Number: Model Answer 

Section:  01A / 01B / 02A / 02B 

Lecturer:  Dr.  Jamaludin Bin Omar 
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